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A PEIA 8,717, 000
1 B pEE FH A 8, 716, 000

2 W PETEEAIN 1, 000

i 11, 281, 000
1 bl 11, 281, 000

EION 2, 000
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8,797,511 8,797,511 0 0 80, 511
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0 0 0 0 A1, 000
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0 0 0 0 A1, 000
20, 534, 505 20, 534, 505 0 0 534, 505
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1 B 3, 600, 000
I =gl 3, 600, 000

2 4 4, 000, 000
1 5E3 4 4, 000, 000

3 Tty 12, 400, 000
1 TPl 12, 400, 000

% = 20, 000, 000

,36,




X o ow @ | mex4sw | & 8 @ | L[pAEEXH

3,406, 041 0 193, 959 193, 959
3,406, 041 0 193, 959 193, 959
4, 000, 000 0 0 0
4, 000, 000 0 0 0
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7,406, 041 0 12, 593, 959 12, 593, 959
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